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[1] Solve the following system. 
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[2]     Express the vector 
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[3]    Find the value of c that will make the vector 
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[4] Suppose that the RREF of a matrix A is 
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=xA  in parametric vector form. 
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[5] Consider the following system of equations: 
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 Determine the values of c,d that will insure that the system has 

 

(a) exactly one solution 

(b) infinitely many solutions 

(c) no solution 
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[6] Determine each set of vectors spans 3R . 
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 (c) 
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[7] Let 
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 Use this fact (and no row operations) to find 1x and 2x that satisfy the equation 
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[8]      Write the solution set of the given homogeneous system in parametric vector form. 
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[9] Determine if the columns of the matrix form a linearly independent set. 

 Justify each answer. 

 

(a) 

4 3 0

0 1 4

1 0 3

5 4 6

−   − 
     −     
       
        

     (b) 

1 3 3 2

3 7 1 2

0 1 4 3

    −   − 
 −       −      
       −    

 

 

 

 

 

 

 

 

 

 

 

 

 

[10] Let 1 2 3

1 2 2

5 10 9

3 6

v v v

h

  −        
     = −  , =  , = −     
     −          

r r r
, (a) for what values of h is 3v

r
 in  

 { }1 2Span ,v v
r r

, and (b) for what values of h is { }1 2 3, ,v v v
r r r

 linearly dependent? 

 Justify each answer. 


